sttt h A E A — il —EE AR RN

I &= Y
hEE R B 1075
B rET
= =| TH 5 % A= L% R
=] OE
=4 1 N - (:_Egg %
81 EHIEB R E
811 AHAfBER(EAL—) -1,100,000 1,429,404 2,529,404 -229.95
812 FEFEIEIHeIEH 7,013,479 27,013,479
8123 RENEEIFRCFIE—) 49,445 49,445
8124 FRENEEIFHECFR) 7,062,924 7,062,924
813 HEHEBN IR ACKE -1,100,000 -5,584,075 4,484,075 407.64
82 H M EB B ER =
824 /D HoAME 476,212 476,212
82D IR/ HAE RS S HAt & -1,013,877 -1,013,877
827 HAth ESh 2 I F e R ACRE—) -537,665 -537,665
83 & R A E & 2 SR CF IR —) -1,100,000 -6,121,740 -5,021,740 456.52
84 BAWIFH 4 Ty 4 TH 4 20,166,366 48,860,279 28,693,413 142.28
85 BARIR 4 AV E R4 19,066,366 42,738,539 23,671,673 124.15

13386-1



